Diffusion and Osmosis

Equilibrium

· Diffusion evens out the concentrations so they are equal everywhere = _____________.

3 relationships that cells can encounter when placed into a water solution

1) Isotonic


*Iso = _______

2) Hypotonic


*Hypo = _____________

3) Hypertonic


*Hyper = _____________

Isotonic, Hypertonic, Hypotonic

· The concentration of solute in the solution can be _____________ the concentration of solute in the cells. The cell is in an _____________ solution. 

· The concentration of solute in the solution can be ________________ the concentration of solute in the cells. The cell is in an _______________ solution. 

· The concentration of solute in the solution can be _____________ the concentration of solute in the cells. The cell is in an _____________ solution
